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Q.1:  Electric current and charge#

[f the given equation between the charge in coulomb and the time 1n second 1s
(g = xt*+ 2)

When the current 1s equal to 10 milli-ampere at t=2s.What 1s the value of x 1n = unit?

g2

(g = xt? + 2) @ ailil 62>9) Yojllg pglgall 6a>g) dizuull Ju Slball dsleall Cils 15
S < 6259 x daud (1 o ¢ = 2s 2ic ol (llo 10 (ngluy Juil gy loic

g2

&, C C C
2.5%x 1077 5 @ 28 X 1077 ) @ 5x 1073 = @ 4 x 107 —
S S S S

@

Q.2:  Electric current and charge#

If the equation between charge and time is (¢ = 7t> + 3t“). What is the correct expression of the current (i)?

S 2wl puoill Jiay &5l 1l . (g = 7¢% + 3t2) (1 gojU disuidl asile ¢ils 13)

@ i=7t>+3t° b)) I=24%=H6t] (d)=2ogi=21t>+6t*H () . i=21t>+ 6t

Q.3:  Electric current and charge#

AZT ,

A rechargeable battery 1s rated (4800 mAh) as shown 1n the 1image to the right.
What does this unit represent?

YYig0gs

! ke 8jgll (16 aHgo g lad (4800 mAR) Jouiul éaley AUl dyjlbl cawind @
6259/l 02 Jiaj 13l

¥ \
YyLig0gs
AT V

@ electric current yulysJl Ll ® electric charge cuJUQ5JI diuill
© Current Density juidl dols @) electric potential difference JupsJl 20>J1 §j6

0509886279 ol Jaslauc /i




Q.4: Electric current and charge#

[f the given equation between the charge in coulomb and the time 1n second 1s
(g = 8t% + 2)

When the current 1s equal to 64 amperes at t = x s. What 1s the value of x 1n unit s?

(g =8t* + 2) N ayll 6a>g) Yojllg glgall 6a>g) dicwull Ju Slbsall dlbleall Cils 1)
s 62> x Ao (@ lo .t = x s 2ic ol 64 (ngluy JLI Ygby loaic

@ 0s © 4s © 12s @ 65

Q.5:  Electric current and charge#

A rechargeable battery, when fully charged, has a charge of 9.0C,
Which of the following 1s correct for this charge in mAh?

9.0C @26 dicuw 10gi JolbJU diguiio (jgad loaic (muwl) alld oy

N

n 4
AR
bR

\,p SmAh 62>q) dicuill 02D Jladal duxo AWl (o
y
@ 2.5mA ) 1.4 mAh © 21 mAh d 32.4mAh

Q.6: Current Density #

Two wires X and Y, X with cross-sectional area equal to (5.0 X 107> m?)
and Y with cross-sectional area equal to (3.0 X 107> m?). If the two wires are carrying the same
current. Which of the following 1s correct about the current density J in the wires?

(3.0 X 1075 m?) (ngluwi ghéo asluay Y g(5.0 X 107° m?) (ngluy ghdo dsluway XY g X gl
Sowdlull (16 J il 8665 (] il auso Ul go (il Ll gudd gilasy gl g1 1]

@ ] _2y © ] _#f © ] ealy © ] W
* .3 ¥ 25 * I * IS
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Q.7: Current Density #

What 1s the current passing through a conductor with radius of (3.1mm),
1f the current density through this conductor is( 5.2 iz) ?
m

( 5.2 ﬁ)dngml 153 (6 jlall jLal adls wils 13] ( 3.1mm.3) ophd wani Jogo (16 jlall jLidl 6. Lo

@ 1.6 X 107*A4 © 3.5x10734 © 2.2 % 10-*4 @ 5.1 X 10724

Q.8: Current Density #

Which of the following equations correctly represent the electric current in terms of the current density?

Sawn Juiad Juil dolis auay gupedll Ll Jiad audll wiusleall go (il

@ i:f].dA © i:f]l.dA © i:f]lz-.dA ©) i=f]2.dA

Q.9: Current Density #

How 1s the direction of current density in a conductor determined?

Sdogall (16 Jul 865 ol ayasd @iy Laud

i

-_—

J
@ In the direction of the velocity of positive (o) In the opposite direction of the velocity of positive

charge charge
»' . lI o e Il a-c Ol..l)ol : . “. : lI o e 'I a-c Ol.lojol E E .
© Perpendicular to the differential area element ~ (d) Towards the negative charge's velocity
ddbladl a>lwall iniel ol (nle (1xgac A bl disu| dc s ol (6
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Q.10: Resistivity & Resistance #

Which of the following 1s true regarding the specific resistance and resistivity of a wire?

Sellunl) ducgill dogliallg dogliall @leiy layd 2uso (il Lao i

@ The resistance of a wire is directly proportional toits (o) Per unit length and per unit cross-sectional area for any

cross-sectional area material the same resistance
o)l aebéo d>lwo o Uaib wuwlis llull dogléo 6alo gf\J Joje hdo d>lwo 62>g JSJg Job 6a>g9 S
lguwiai doglaall
(© The resistance of the wire is inversely proportional to  (d) The specific resistance of the wire depends on the type of Its
its length material

aslo g e el ducqill doglaall aainj

JobJl 20 buube elludl dogléo Luwlisi

Q.11: Resistivity & Resistance #

What happens when the potential difference across a conducting cylinder increases 1n a close circuit?

Cadloo aul 35 oplo (o ulgbuwl Jiogo (nob g 2831 Go 2lojy loaic daxy I5lo

@ The resistance of the conducting cylinder increases ® The resistance of the conducting cylinder decreases
Julgbuwll Jogall doglao slbji Julabuwll Jogall dogléo Jai
© The current through the conducting cylinder decreases (d The current through the conducting cylinder increases
Julgbuwll dogall (16 jlall jLdl Jé Julgbuwll Jogall (no jlall judl sloj)

Q.12: Resistivity & Resistance #

A particular wire has a diameter of 1.7 mm and a length of 1.3 m.
I 1ts resistance 1s 15 m£2 what 1s the resistivity of the metal from which 1t 1s made?

S gamall ducqill dogléall b . 15 mQ, dioglio il 15].1.3 m dlgbg 1.7 mm o ellw

@ 1.0 X 1077Qm @ 4.4 x 107°Qm @ 1.8 x 10°Qm @ 2.6 X 107/Om
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Q.13: Conductance & Resistance #

A conducting wire with conductance of (0.95). What 1s the conductance (G) of another
wire of the same material and of the same length, but the area of its cross section 1s 3
times the aera of the cross section of the first wire?

Jui alg dslall i (o 13T el (G) Jubogill jlago o (0.95) ojlado Juogi g5 Jogo ellw
Sl ellul ehéo dsbuo JUol 3 aehiéo asbuo (4) Jobll

@ 0.1§ @ 8.15 @ 0.35 @ 215

Q.14: Resistivity & Resistance #

The (2.0 m) length hollow silver wire shown 1n the figure has an inner radius of (2.0 cm)
and outer radius of(3.0 cm) what is the resistance of this conductor? (p=1.62x10°Q-m)

LQJ:)JQ (2.0 cm) (nB3laJl opnd ami (Jéull (16 2Hgo 9@ las(2.0 m) dlgb wgxo (oo ellw
~ (p = 1.62 x 10 °02.m)SJogall 133 dogléo (3.0 cm) ()3l oo

24 % 1020 @ 44 x107°0 @ 316 x- 10720 @ 1.0 X 107°12

Q.15: Resistivity & Resistance #

A Nichrome wire with The resistivity is (p= 108x10™® Q-m), length of( 1.2 m) and (1.0 mm) radius is
connected to( 12 V )battery ,what should be the ammeter reading?

Jio (1.0 mm) opad canig (1.2 m) dgb (p = 108 x 10-80m) &rnal ducqil aioglio ogybu ¢l
ol 6clyd gl (12 V) dujlbw

@ 29 A @ 12 A @ 19°A @ 21 A
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